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| 1 |define force as the cause of acceleration | Stated explicitly in text | 90
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Classify forces as either contact forces or field forces and realize that they result from interactions caused by agents Stated explicitly in text 91
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3 ‘Combine forces to find the net force acting on an objec | Example 1 | 97
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4 Calculate the weight of an object Example2 101
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5 Find the mass of an object from a force-acceleration graph Stated explicitly in text 95
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] Example 1 97
6 Apply Newton's Second Law to solve numerical problems Example 2 101

lass 5 LO-"' 3l 5,25 s (:’3 0.30 kg Le=l=S aalugs R0 el Sal....u,J' ".L‘ &}'J:h"
P20 CatD>eang 10.0 N LA)..\E -y e-n L_‘.i_'ﬂ 5:L.09.” 5)'...» (S A '5! P20 (0 L‘,.:.JJ.‘.B O' \J‘QL":‘S
Saslwgl) gzss'l golwzl) Led 110 N La a2 azd) a2,

-

= -

ol glesia  E RGO o e

62329y 631 ¢jluy :jglandl Y5l (o 115
15N - 20N (m/s%)

Sudlgxi 14 |d|  guadlexs 14 [ C| sludlen2 |D|  uadiens 2 a

S ooty Jo2 iy of Jed 230 N ayud o3sl) o ead] 1is Jamty o oy ) 050y s Ao 19
7.0 M/s? o,u8 grlun a0ud) ,mslS 3sd (e and; pray Aladl slse e 15 kG Sle (92




7 state Newton's Second Law of motion | Explicitly within text | 26
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| 10 | Calculate the apparent weight of a person inan

elevator

Example3
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11 Apply Newton's second law to calculate the drag force when terminal velocity is reached | section review Q22 | 105
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12 Describe forces in nature as a tyoe of interaction between two bodies | Stated explicitly in text | 107
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13 Define the normal force and use examples to show that the normal force is not always equal in magnitude to the weight of the objed{ Stated explicitly in text 111
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14 Describe weightlessness and explain that an object with no contact supporting force experiences weightlessness | Stated explicitly in text | 102
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15 Define the tension force and explain how Newton's Third Law applies to forces on strings and ropes Example 5 110
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16 llustrate graphically the addition and subtraction of vectors in two dimensions | Stated explicitly in text | 123,137
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Determine the components of a vector in cartesian coordinate system using trigonometry Example 126
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21 Distinguish between static and kinetic friction. | Stated explicitly in text | 130
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22 |Identif‘y the forces acting on an object moving on an inclined plane and draw the free body diagram. | Example 6 | 140
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| 23 |Applythe relationships that relate the normal force to maximum static friction and to kinetic friction to calculate unknown parametel Example 3 | 133 |
r 1

1.0 M/s als anl de,uw dodis dun)) le 25.0 kg alsS Lisis Bgain paxs &35ed) LS 508
gég.\.ual.l clans 553 _)LL'&.a Lo 0.20 L__55L"""-’ ‘:’SJ;-JI SISz ¥ J.al—!-o

ils 353 ) gliss 28,400 b calises olSe J) 105 kg LealsS Syl ¢y ol J) ghiss guaad) .21
Raslscally B SIS ., oSl ASaa ¥ folao Lo ol B 3S,,¥) 1as S7403 N

151.6,500 N Sonadi 358 uilis1, 250 kg Lali€ 5w dijs

Bl B el o 0,92 30,001 LIESI G £ 5,501 SHSEST Jalad o
& : E 4 G

32my/s? 200m/s?

oam/s? 50m/s?

18




24 Recall that for an object to be in equilibrium, the net force acting on it should be zero Stated explicitly in text 136
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